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» DataFrame.corr(method="pearson’, min_periods=1)
» SRR
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# @1 gpflrdataframe
Datal=[{'a"1,'b"2,'c":3}, {'a"4,'b"5,'c"6,'d"7},
{{a"4,'0"2,'c"3} {a'3,0"5,'c"4,d"7}]
Df1=pd.DataFrame(Datal)

print(Df1)

#HEA R E

Df1_p=Dfl.corr()

Df1_k=Df1.corr('’kendall’)
Df1_s=Dfl.corr('spearman’)

print(Df1_s)

print (‘o bpItEEEEL, Df1_s.at['a','b'])
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scipy.constants BB BT &
Scipy.ffipack BEEEH
scipy.integrate HEHE
scipy.interpolate 1B

sCipy.io =il i A R0 880
scipy.linalg RIEREHIR=E
sCipy.optimize B1E

scipy.signal EREE
scipy.sparse o I kB fE
scipy.spatial TEENGEBMERE
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scipy.stats ET
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Import scipy.stats as stats
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» python IR ET DTG —AER scipy BRI stats
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® scipy.stats.ttest_ind

® scipy.stats.ttest_ind_from_stats
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#two sample student t test
import numpy as np
from scipy import stats

meani1 = 30.97

odified_std1 = np.sqrt(np.float32(nobs1)/np.float32(nobs1-1)) *std1

odified_std2 = np.sqrt(np.float32(nobs2)/np.float32(nobs2-1)) * std2

(statistic, pvalue) = stats.ttest_ind_from_stats(mean1=mean1, std1=modified_std1,
obs1=10, mean2=mean2, std2=modified_std2, nobs2=10)

int("t statistic is: ", statistic)

t("pvalue is: ", pvalue)
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def t_test(groupl1, group?2):
meanl] = np.mean(groupl)
mean2 = np.mean(group?2)
std1 = np.std(group1)
std2 = np.std(group?2)
nobs1 = len(groupl)
nobs2 = len(group?2)

modified_std1 = np.sgrt(np.float32(nobs1)/
np.float32(nobs1-1)) * stdl
modified_std2 = np.sqgrt(np.float32(nobs2)/
np.float32(nobs2-1)) * std2
(statistic, pvalue) = stats.ttest_ind_from_stats(
meanl=meanl, stdl1=modified_std1, nobsl=nobsI,
mean2=mean2, std2=modified_std2, nobs2=nols2 )
return statistic, pvalue
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» P value(=0.3599) K520.05
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®» stats.linregress( )

scipy.stats.linregress

scipy.stats.linregress(x, y=None) [source]
Calculate a linear least-squares regression for two sets of measurements.

Parameters: X,y : array_like

Returns:

Two sets of measurements. Both arrays should have the same length. If only x is given (and y=None), then
it must be a two-dimensional array where one dimension has length 2. The two sets of measurements are
then found by splitting the array along the length-2 dimension. In the case where y=None and xis a 2x2
array, linregress(x) is equivalent to linregress(x[8], x[1]).

slope : float
Slope of the regression line.

intercept : float
Intercept of the regression line.

rvalue : float
Correlation coefficient.

pvalue : float

Two-sided p-value for a hypothesis test whose null hypothesis is that the slope is zero, using Wald Test
with t-distribution of the test statistic.

stderr : float

Standard error of the estimated gradient.

https://docs.scipy.org/doc/scipy/reference/generated/scipy.stats.linregress.html
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# create data frame

import pandas as pd

Datal=[{'a":1,'b"2,'c"3}, {{a"4,'0"5,'c"6,'d" 7}, {{a"4,'0"2,'c" .3} {a"3,'b"5,'c"4,'d"7}]
Dfl=pd.DataFrame(Datal)

print(Df1)

/ﬁf linear regre

from scipy import stats

list1=Df1['c'].tolist()

list2=Df1['b'] .tolist()

slope, intercept, r_value, p_value, std_err = stats.linregress(list1, list2)
print('slope: %f intercept: %" % (slope, intercept))
print("R-squared: %f" % r_value**2)

https://docs.scipy.org/doc/scipy/reference/generated/scipy.stats.linregress.htmi
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